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ar =] m]
BT T2 | MR T8 T = x
X 55,522 123480 60,101 63,379
=z 632 1,473 735 738
REFZHT 1,686 3,783 1,914 1,869
FEET 226 471 261 210
FE T 1,082 2,320 1,128 1,192
MR 1,382 2,911 1,356 1,555
NG 254 525 267 258
FRET 1,804 4,014 1,921 2,093
AE 775 1,827 906 921
itz 1,788 3,986 1,905 2,081
Fazsdt 2,176 5,353 2,675 2,678
T IBET 2,898 7,294 3,521 3,773
i 626 1,466 734 732
TERET1T 851 1,776 895 881
TERET2T 822 1,838 903 935
TERET3T 920 2,303 1,124 1,179
TERET4AT 513 1,196 596 600
TERETST 623 1,512 788 724
3,729 8,625 4,306 4319
J\E=FHT 804 1,817 880 937
J\EILHT 2,342 5,398 2,630 2,768
J\ETET1T 4 7 5 2
J\BTET2T 1,249 2,364 1,099 1,265
J\BTET3T 541 1,071 543 528
1,794 3,442 1,647 1,795
J\EFZHT 440 41 358 383
B/\H 554 1,218 589 629
B 2,353 5,516 2,730 2,786
EH 1,285 3,070 1,546 1,524
EFALET 2,345 5,024 2,346 2,678
EFIRET 1,775 3,345 1,613 1,732
EHIFKHET 2,762 5,621 2,752 2,869
R R HET 3,581 7,933 3,855 4,078
R LT 1,210 2,994 1,488 1,506
PRI RHET 1,198 2,748 1,341 1,407
EH K ET 1,470 3,152 1,596 1,556
RBR 5 6 4 2
ER1T 572 1,249 588 661
ER2T 494 1,129 550 579
ER3T 290 686 321 365
ER4AT 506 1,159 591 568
ERST 232 490 246 244
ER6T 450 976 493 483
2,549 5,695 2,793 2,902
12H 5573 12,872 6,226 6,646
RE 684 1,455 690 765
¥E L HT 1,566 3,489 1,710 1,779
RErL 342 730 344 386
= [RET 1,837 3,172 1,338 1,834
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